Algebra 1: 1% Semester Exam Review (2017) Name Period

COMPLETE EVERY PROBLEM SHOW ALL WORK FOR 5% BONUS!
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Hector knows there is a relationship between the number of cars he washes and the time it takes to wash those
cars. Identify the independent quantity and the dependent quantity in the problem situation.

TQ = time DA = numloer of cars washed.

: L Da.zy David's Bike Ride
David rode his bike to the park. He stopped to watch the other
children play for a few minutes, then continued his ride to the x
grocery store. The graph shows this relationship. What is the £
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Determine whether each graph represents a function. Explain your reasoning. e
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Determine whether each graph is discrete or continuous.
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6. Determine if there is a positive, negative, or no correlation for each graph.
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7. Classify each function as increasing, decreasing, or constant.
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8. The attendance for the freshmen football games at Hoover High School can be represented by the linear equation:

y="73x+ 1963
x = the number of games played
y = the number of people attending the games

a. Predict the attendance for game 9.
y=78() + 1963 = 5T +1963 = 30

b. At which game will the attendance be about 3000?
3000= 13y + 1903 1037=135%

73 3 The aifendance will be

3000 b

ganie 14.

&0 fca/o)c, woill a#c:rga{_,
gene 9

A= /‘1/, 2 /"] sy

9. An elevator in a high-rise building moves upward at a constant rate. The table shows the height of the elevator

above the ground floor after various times.

a. What are the dependent and independent quantities in this
problem situation? Explain your reasoning,.
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b. Determine the unit rate of change for the problem situation. ,,¢ pal 5§fcc3L, 7
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d. Write an expression that represents the height f&r at time ¢ seconds

in the last row of the table.

ROC =
c. Complete the table.

e. Use function notation to determine the height of the elevator
at 14 seconds.

Any=__R204) = 168 feet

Expression

Time Height
Seconds Feet
0 0
1)< 123 12
2 24
3 36
4.5 54
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a.

Y-intercept
10. Suppose an elevator starts at the top floor of a high-rise building at a height of 350 feet above the ground floor
and descends without stopping at a constant rate of 25 feet per second.

Vo=

Write a linear function that describes the height, 4, of the elevato
after 7 seconds.
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40
5

w
o

w
o
o

Graph the function you wrote in part a. Label your axes.
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Use the graph to estimate when the elevator will be at a height 20

of 200 feet. Y= Q00 b secovids
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Determine the exact time when the elevator will be at a height of
200 feet. Hint: A(7) = 200.

ME)=R0O0 = =25t 350
- 150 =-25T b=t

slope 450 |

o

~
I

RGeS S N R )
i (seconds)

11. Taylor received a $450 gift card from his grandparents and is using it to pay for his singing lessons, which cost
$50 per month. Y- intereept

slope
a. Write a linear function that describes the dollar amount, d, on the 450A
card after # months. = 400
dn=_-50t + 450 370350
$’ S 300
b. Graph the function that you wrote in part a. Label your axes. N 't) 250 \\
. : 0~5 200
c. Use the graph to estimate when there will be $100 remaining ~3§ § 150
on the card. &
lj (OO 7 months 00
d. Determine the exact time when there will be $100 remaining % 50 |4 100

on the card. Hint: d(¢) = 100.
d#)= 100 = -50t +450
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12. Joy has $200 to spend at the Galleria. She decides to buy sweaters and pants with her money. Sweaters cost $35
each and pants cost $20 each.
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Write an eq-ua@en tG(jrepresent this problem situation.
s = the number of sweaters
p = the number of pants

Z
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If Joy buys 3 sweaters, what is the greatest number of pants she can buy?
§:8  35(3) + 0p =00 ROpP = 95

If Joy buys no pants, what is the greatest number of sweaters she can buy?

She can bﬁi‘j 4
pants.

p=0 35s + 0(0) = 200 She can buf 5
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13. Josh has $125 to spend at the electronics store and decides to buy video games and DVDs with his money. Video
games cost $40 each and DVDs cost $15 each.
. ipequabty . o
a. Write an to represent this problem situation.
v = number of video games
d = number of DVDs

4o v + 15 L $125

b. If Josh buys 2 video games, what is the greatest number of DVDs he can buy?
V=2 40(a) +15dk = 15 .3 He can buy

SO + 154 = 145 2 DVDs,
15d = 45
c. If Josh buys no DVDs, what is the maximum number of video games he can buy?
d=0 dOv + 15(0) = IRE = 3,125 He can buy
tdov = &5 3 video ﬂamcs,
14. Write an equation and sketch the graph for each set of given characteristics. i
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15. Match the function with its appropriate function name. % | S e L s
Absolute value function: d 5 o2
o
Constant function: b O|-2°%= -
Exponential function: & v / -Q" =i=ed
Linear function: ache ! \(o.(\ a - _
e & o 22 4
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a. f(x)= %x—7 b. f(x)= -6 c. f(x)=—4* d f(x)=|x-9|
16. Evaluate the function f(x)=31.572x—17.741 for each of these values.
a. f(6.2) b. f(-27.5)
£lo.2)= 31.574(6.2) - 17. 741 #-27. 5)= 31,572 (-27. 5) 17,74
2198, 74¢4 - 1774/ = — 8L, A3-17. 74|

= |78 0054 = - 9¥'8, 971 4



17. Solve each of the equations.

a. 5@)—8=x+32

5X+a0-F:=XK+ 3L

Ox 4+ IR=x +32

H4x= RO
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19. Find the slope using two points. 7 =22_21
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